## 1. Communicate Clearly (10/26/12) avg:65.6%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		8/10	80.0% Strong
3		7/10	70.0% Developing
4		7/10	70.0% Developing
5		6/10	60.0% Developing
6		6/10	60.0% Developing
7		5/10	50.0% Beginning
8		7/10	70.0% Developing
9		6/10	60.0% Developing
10		4/10	40.0% Beginning
11		8/10	80.0% Strong
12		5/10	50.0% Beginning
13		7/10	70.0% Developing
14		8/10	80.0% Strong
15		7/10	70.0% Developing
16		7/10	70.0% Developing
17		5/10	50.0% Beginning
18		6/10	60.0% Developing
19		6/10	60.0% Developing
20		8/10	80.0% Strong
21		7/10	70.0% Developing
22		7/10	70.0% Developing
23		6/10	60.0% Developing
24		8/10	80.0% Strong
25		6/10	60.0% Developing

## 2. Collaborate w/Others (10/26/12) avg:59.6%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		5/10	50.0% Beginning
3		8/10	80.0% Strong
4		8/10	80.0% Strong
5		5/10	50.0% Beginning
6		7/10	70.0% Developing
7		6/10	60.0% Developing
8		7/10	70.0% Developing
9		5/10	50.0% Beginning
10		4/10	40.0% Beginning
11		5/10	50.0% Beginning
12		7/10	70.0% Developing
13		8/10	80.0% Strong
14		6/10	60.0% Developing
15		6/10	60.0% Developing
16		7/10	70.0% Developing
17		5/10	50.0% Beginning
18		7/10	70.0% Developing
19		6/10	60.0% Developing
20		6/10	60.0% Developing
21		6/10	60.0% Developing
22		4/10	40.0% Beginning
23		4/10	40.0% Beginning
24		4/10	40.0% Beginning
25		7/10	70.0% Developing

## 3. Think Interdependently (10/26/12)

avg:49.6%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		5/10	50.0% Beginning
3		6/10	60.0% Developing
4		5/10	50.0% Beginning
5		6/10	60.0% Developing
6		7/10	70.0% Developing
7		5/10	50.0% Beginning
8		6/10	60.0% Developing
9		3/10	30.0% Needs Assistance
10		4/10	40.0% Beginning
11		4/10	40.0% Beginning
12		5/10	50.0% Beginning
13		4/10	40.0% Beginning
14		7/10	70.0% Developing
15		3/10	30.0% Needs Assistance
16		6/10	60.0% Developing
17		3/10	30.0% Needs Assistance

18	6/10	60.0% Developing
19	3/10	30.0% Needs Assistance
20	5/10	50.0% Beginning
21	4/10	40.0% Beginning
22	5/10	50.0% Beginning
23	4/10	40.0% Beginning
24	5/10	50.0% Beginning
25	6/10	60.0% Developing

## 4. Think Creatively (10/26/12) avg:65.6%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		7/10	70.0% Developing
3		7/10	70.0% Developing
4		6/10	60.0% Developing
5		7/10	70.0% Developing
6		5/10	50.0% Beginning
7		7/10	70.0% Developing
8		7/10	70.0% Developing
9		5/10	50.0% Beginning
10		7/10	70.0% Developing
11		7/10	70.0% Developing
12		7/10	70.0% Developing
13		7/10	70.0% Developing
14		8/10	80.0% Strong
15		6/10	60.0% Developing
16		7/10	70.0% Developing
17		6/10	60.0% Developing
18		7/10	70.0% Developing
19		8/10	80.0% Strong
20		6/10	60.0% Developing
21		5/10	50.0% Beginning
22		5/10	50.0% Beginning
23		6/10	60.0% Developing
24		7/10	70.0% Developing
25		7/10	70.0% Developing

## 5. Work Creatively w/Others (10/26/12)

avg:65.6%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		7/10	70.0% Developing
3		7/10	70.0% Developing
4		5/10	50.0% Beginning
5		6/10	60.0% Developing
6		7/10	70.0% Developing
7		6/10	60.0% Developing
8		5/10	50.0% Beginning
9		5/10	50.0% Beginning
10		7/10	70.0% Developing
11		6/10	60.0% Developing
12		7/10	70.0% Developing
13		7/10	70.0% Developing
14		7/10	70.0% Developing
15		7/10	70.0% Developing
16		7/10	70.0% Developing
17		8/10	80.0% Strong
18		7/10	70.0% Developing
19		8/10	80.0% Strong
20		7/10	70.0% Developing
21		6/10	60.0% Developing
22		5/10	50.0% Beginning
23		7/10	70.0% Developing
24		7/10	70.0% Developing
25		6/10	60.0% Developing

## 6. Implement Innovations (10/26/12) avg:65.6%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		7/10	70.0% Developing
3		7/10	70.0% Developing
4		6/10	60.0% Developing
5		6/10	60.0% Developing
6		8/10	80.0% Strong
7		6/10	60.0% Developing
8		7/10	70.0% Developing

9	6/10	60.0% Developing
10	6/10	60.0% Developing
11	7/10	70.0% Developing
12	6/10	60.0% Developing
13	5/10	50.0% Beginning
14	6/10	60.0% Developing
15	7/10	70.0% Developing
16	6/10	60.0% Developing
17	8/10	80.0% Strong
18	7/10	70.0% Developing
19	8/10	80.0% Strong
20	7/10	70.0% Developing
21	7/10	70.0% Developing
22	6/10	60.0% Developing
23	5/10	50.0% Beginning
24	7/10	70.0% Developing
25	5/10	50.0% Beginning

# 7. Apply Past Knldg 2 New Situatns (10/26/12) avg:70.0%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		7/10	70.0% Developing
3		8/10	80.0% Strong
4		6/10	60.0% Developing
5		6/10	60.0% Developing
6		7/10	70.0% Developing
7		6/10	60.0% Developing
8		7/10	70.0% Developing
9		6/10	60.0% Developing
10		8/10	80.0% Strong
11		7/10	70.0% Developing
12		8/10	80.0% Strong
13		7/10	70.0% Developing
14		7/10	70.0% Developing
15		8/10	80.0% Strong
16		7/10	70.0% Developing
17		7/10	70.0% Developing
18		6/10	60.0% Developing
19		8/10	80.0% Strong
20		8/10	80.0% Strong
21		7/10	70.0% Developing
22		7/10	70.0% Developing
23		6/10	60.0% Developing
24		7/10	70.0% Developing
25		6/10	60.0% Developing

## 8. Think Critically (10/26/12) avg:64.0%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		7/10	70.0% Developing
3		6/10	60.0% Developing
4		5/10	50.0% Beginning
5		5/10	50.0% Beginning
6		6/10	60.0% Developing
7		7/10	70.0% Developing
8		7/10	70.0% Developing
9		7/10	70.0% Developing
10		7/10	70.0% Developing
11		6/10	60.0% Developing
12		8/10	80.0% Strong
13		6/10	60.0% Developing
14		8/10	80.0% Strong
15		5/10	50.0% Beginning
16		6/10	60.0% Developing
17		8/10	80.0% Strong
18		5/10	50.0% Beginning
19		6/10	60.0% Developing
20		7/10	70.0% Developing
21		6/10	60.0% Developing
22		8/10	80.0% Strong
23		8/10	80.0% Strong
24		5/10	50.0% Beginning
25		5/10	50.0% Beginning

## 9. Make Judgments & Decisions (10/26/12) avg:66.4%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		8/10	80.0% Strong
3		5/10	50.0% Beginning
4		6/10	60.0% Developing
5		8/10	80.0% Strong
6		8/10	80.0% Strong
7		5/10	50.0% Beginning
8		6/10	60.0% Developing
9		7/10	70.0% Developing
10		8/10	80.0% Strong
11		5/10	50.0% Beginning
12		6/10	60.0% Developing
13		7/10	70.0% Developing
14		6/10	60.0% Developing
15		6/10	60.0% Developing
16		7/10	70.0% Developing
17		7/10	70.0% Developing
18		7/10	70.0% Developing
19		8/10	80.0% Strong
20		8/10	80.0% Strong
21		7/10	70.0% Developing
22		8/10	80.0% Strong
23		5/10	50.0% Beginning
24		7/10	70.0% Developing
25		5/10	50.0% Beginning

## 10. Ask Questions (10/26/12) avg:63.2%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		8/10	80.0% Strong
3		7/10	70.0% Developing
4		7/10	70.0% Developing
5		6/10	60.0% Developing
6		6/10	60.0% Developing
7		7/10	70.0% Developing
8		5/10	50.0% Beginning
9		6/10	60.0% Developing
10		7/10	70.0% Developing
11		5/10	50.0% Beginning
12		7/10	70.0% Developing
13		6/10	60.0% Developing
14		8/10	80.0% Strong
15		5/10	50.0% Beginning
16		5/10	50.0% Beginning
17		8/10	80.0% Strong
18		5/10	50.0% Beginning
19		8/10	80.0% Strong
20		6/10	60.0% Developing
21		7/10	70.0% Developing
22		5/10	50.0% Beginning
23		5/10	50.0% Beginning
24		7/10	70.0% Developing
25		6/10	60.0% Developing

## 11. Solve Problems (10/26/12) avg:67.6%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		6/10	60.0% Developing
3		8/10	80.0% Strong
4		7/10	70.0% Developing
5		7/10	70.0% Developing
6		6/10	60.0% Developing
7		8/10	80.0% Strong
8		7/10	70.0% Developing
9		7/10	70.0% Developing
10		6/10	60.0% Developing
11		6/10	60.0% Developing
12		8/10	80.0% Strong
13		6/10	60.0% Developing
14		6/10	60.0% Developing
15		8/10	80.0% Strong
16		5/10	50.0% Beginning
17		7/10	70.0% Developing

80.0% Strong 8/10 18 19 6/10 60.0% Developing 20 6/10 60.0% Developing 21 6/10 60.0% Developing 22 8/10 80.0% Strong 60.0% Developing 23 6/10 24 6/10 60.0% Developing 25 7/10 70.0% Developing

#### 12. Metacognition (10/26/12) avg:65.2%

#	Students	Scores	Grades
1		5/10	50.0% Beginning
2		7/10	70.0% Developing
3		7/10	70.0% Developing
4		5/10	50.0% Beginning
5		6/10	60.0% Developing
6		7/10	70.0% Developing
7		7/10	70.0% Developing
8		6/10	60.0% Developing
9		8/10	80.0% Strong
10		7/10	70.0% Developing
11		6/10	60.0% Developing
12		7/10	70.0% Developing
13		6/10	60.0% Developing
14		7/10	70.0% Developing
15		7/10	70.0% Developing
16		6/10	60.0% Developing
17		6/10	60.0% Developing
18		6/10	60.0% Developing
19		7/10	70.0% Developing
20		7/10	70.0% Developing
21		8/10	80.0% Strong
22		6/10	60.0% Developing
23		6/10	60.0% Developing
24		6/10	60.0% Developing
25		7/10	70.0% Developing

## 13. Reflect and Synthesize (10/26/12)

avg:60.8%

#	Students	Scores	Grades
1		4/10	40.0% Beginning
2		4/10	40.0% Beginning
3		5/10	50.0% Beginning
4		7/10	70.0% Developing
5		8/10	80.0% Strong
6		6/10	60.0% Developing
7		6/10	60.0% Developing
8		6/10	60.0% Developing
9		3/10	30.0% Needs Assistance
10		7/10	70.0% Developing
11		6/10	60.0% Developing
12		5/10	50.0% Beginning
13		7/10	70.0% Developing
14		8/10	80.0% Strong
15		7/10	70.0% Developing
16		3/10	30.0% Needs Assistance
17		6/10	60.0% Developing
18		7/10	70.0% Developing
19		7/10	70.0% Developing
20		7/10	70.0% Developing
21		5/10	50.0% Beginning
22		7/10	70.0% Developing
23		7/10	70.0% Developing
24		8/10	80.0% Strong
25		6/10	60.0% Developing

#### 14. Adapt to Change (10/26/12) avg:78.0%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		8/10	80.0% Strong
3		8/10	80.0% Strong
4		8/10	80.0% Strong
5		8/10	80.0% Strong
6		8/10	80.0% Strong
7		8/10	80.0% Strong
8		8/10	80.0% Strong

9	8/10	80.0% Strong
10	8/10	80.0% Strong
11	8/10	80.0% Strong
12	5/10	50.0% Beginning
13	8/10	80.0% Strong
14	8/10	80.0% Strong
15	8/10	80.0% Strong
16	8/10	80.0% Strong
17	8/10	80.0% Strong
18	8/10	80.0% Strong
19	8/10	80.0% Strong
20	8/10	80.0% Strong
21	8/10	80.0% Strong
22	8/10	80.0% Strong
23	7/10	70.0% Developing
24	8/10	80.0% Strong
25	8/10	80.0% Strong

## 15. Think & Learn Flexibly (10/26/12) avg:69.2%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		8/10	80.0% Strong
3		7/10	70.0% Developing
4		6/10	60.0% Developing
5		6/10	60.0% Developing
6		6/10	60.0% Developing
7		7/10	70.0% Developing
8		5/10	50.0% Beginning
9		6/10	60.0% Developing
10		6/10	60.0% Developing
11		8/10	80.0% Strong
12		5/10	50.0% Beginning
13		8/10	80.0% Strong
14		7/10	70.0% Developing
15		7/10	70.0% Developing
16		8/10	80.0% Strong
17		8/10	80.0% Strong
18		7/10	70.0% Developing
19		4/10	40.0% Beginning
20		8/10	80.0% Strong
21		8/10	80.0% Strong
22		7/10	70.0% Developing
23		7/10	70.0% Developing
24		8/10	80.0% Strong
25		8/10	80.0% Strong

## 16. Demo Lrng thru All Intelligence (10/26/12) avg:68.8%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		7/10	70.0% Developing
3		7/10	70.0% Developing
4		7/10	70.0% Developing
5		7/10	70.0% Developing
6		6/10	60.0% Developing
7		7/10	70.0% Developing
8		8/10	80.0% Strong
9		6/10	60.0% Developing
10		7/10	70.0% Developing
11		8/10	80.0% Strong
12		8/10	80.0% Strong
13		7/10	70.0% Developing
14		6/10	60.0% Developing
15		7/10	70.0% Developing
16		7/10	70.0% Developing
17		7/10	70.0% Developing
18		5/10	50.0% Beginning
19		6/10	60.0% Developing
20		7/10	70.0% Developing
21		6/10	60.0% Developing
22		8/10	80.0% Strong
23		6/10	60.0% Developing
24		7/10	70.0% Developing
25		8/10	80.0% Strong

## 17. Manage Goals & Time (10/26/12) avg:64.4%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		8/10	80.0% Strong
3		8/10	80.0% Strong
4		8/10	80.0% Strong
5		4/10	40.0% Beginning
6		7/10	70.0% Developing
7		4/10	40.0% Beginning
8		6/10	60.0% Developing
9		6/10	60.0% Developing
10		8/10	80.0% Strong
11		7/10	70.0% Developing
12		7/10	70.0% Developing
13		4/10	40.0% Beginning
14		7/10	70.0% Developing
15		5/10	50.0% Beginning
16		7/10	70.0% Developing
17		7/10	70.0% Developing
18		7/10	70.0% Developing
19		6/10	60.0% Developing
20		4/10	40.0% Beginning
21		8/10	80.0% Strong
22		8/10	80.0% Strong
23		5/10	50.0% Beginning
24		4/10	40.0% Beginning
25		8/10	80.0% Strong

## 18. Be a Risk-Taker (10/26/12) avg:65.6%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		7/10	70.0% Developing
3		8/10	80.0% Strong
4		6/10	60.0% Developing
5		5/10	50.0% Beginning
6		7/10	70.0% Developing
7		5/10	50.0% Beginning
8		7/10	70.0% Developing
9		5/10	50.0% Beginning
10		7/10	70.0% Developing
11		5/10	50.0% Beginning
12		8/10	80.0% Strong
13		8/10	80.0% Strong
14		7/10	70.0% Developing
15		8/10	80.0% Strong
16		7/10	70.0% Developing
17		7/10	70.0% Developing
18		7/10	70.0% Developing
19		5/10	50.0% Beginning
20		7/10	70.0% Developing
21		6/10	60.0% Developing
22		7/10	70.0% Developing
23		7/10	70.0% Developing
24		5/10	50.0% Beginning
25		7/10	70.0% Developing

#### 19. Be a Self-Directed Learner (10/26/12) avg:59.6%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		6/10	60.0% Developing
3		6/10	60.0% Developing
4		6/10	60.0% Developing
5		6/10	60.0% Developing
6		6/10	60.0% Developing
7		4/10	40.0% Beginning
8		6/10	60.0% Developing
9		6/10	60.0% Developing
10		6/10	60.0% Developing
11		6/10	60.0% Developing
12		6/10	60.0% Developing
13		6/10	60.0% Developing
14		6/10	60.0% Developing
15		6/10	60.0% Developing
16		6/10	60.0% Developing
17		6/10	60.0% Developing

18	7/10	70.0% Developing
19	6/10	60.0% Developing
20	6/10	60.0% Developing
21	7/10	70.0% Developing
22	6/10	60.0% Developing
23	6/10	60.0% Developing
24	5/10	50.0% Beginning
25	6/10	60.0% Developing

## 20. Persist Despite Setbacks (10/26/12) avg:60.8%

			Cradas
#	Students	Scores	Grades
1		7/10	70.0% Developing
2		5/10	50.0% Beginning
3		7/10	70.0% Developing
4		5/10	50.0% Beginning
5		6/10	60.0% Developing
6		6/10	60.0% Developing
7		7/10	70.0% Developing
8		5/10	50.0% Beginning
9		6/10	60.0% Developing
10		7/10	70.0% Developing
11		7/10	70.0% Developing
12		6/10	60.0% Developing
13		6/10	60.0% Developing
14		6/10	60.0% Developing
15		6/10	60.0% Developing
16		6/10	60.0% Developing
17		6/10	60.0% Developing
18		7/10	70.0% Developing
19		6/10	60.0% Developing
20		6/10	60.0% Developing
21		7/10	70.0% Developing
22		5/10	50.0% Beginning
23		6/10	60.0% Developing
24		4/10	40.0% Beginning
25		7/10	70.0% Developing
23		7/10	

## 21. Be Curious (10/26/12) avg:64.0%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		7/10	70.0% Developing
3		7/10	70.0% Developing
4		6/10	60.0% Developing
5		7/10	70.0% Developing
6		6/10	60.0% Developing
7		6/10	60.0% Developing
8		7/10	70.0% Developing
9		6/10	60.0% Developing
10		7/10	70.0% Developing
11		6/10	60.0% Developing
12		6/10	60.0% Developing
13		6/10	60.0% Developing
14		6/10	60.0% Developing
15		6/10	60.0% Developing
16		6/10	60.0% Developing
17		7/10	70.0% Developing
18		6/10	60.0% Developing
19		6/10	60.0% Developing
20		7/10	70.0% Developing
21		6/10	60.0% Developing
22		6/10	60.0% Developing
23		7/10	70.0% Developing
24		7/10	70.0% Developing
25		7/10	70.0% Developing

## 22. Learn Continuously (10/26/12) avg:70.0%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		7/10	70.0% Developing
3		6/10	60.0% Developing
4		7/10	70.0% Developing
5		7/10	70.0% Developing
6		7/10	70.0% Developing
7		7/10	70.0% Developing
8		6/10	60.0% Developing

9	7/10	70.0% Developing
10	7/10	70.0% Developing
11	6/10	60.0% Developing
12	8/10	80.0% Strong
13	8/10	80.0% Strong
14	7/10	70.0% Developing
15	7/10	70.0% Developing
16	8/10	80.0% Strong
17	7/10	70.0% Developing
18	7/10	70.0% Developing
19	7/10	70.0% Developing
20	7/10	70.0% Developing
21	8/10	80.0% Strong
22	6/10	60.0% Developing
23	8/10	80.0% Strong
24	6/10	60.0% Developing
25	6/10	60.0% Developing

## 23. Interact Effectively w/Others (10/26/12) avg:67.6%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		7/10	70.0% Developing
3		6/10	60.0% Developing
4		7/10	70.0% Developing
5		7/10	70.0% Developing
6		6/10	60.0% Developing
7		6/10	60.0% Developing
8		6/10	60.0% Developing
9		8/10	80.0% Strong
10		6/10	60.0% Developing
11		8/10	80.0% Strong
12		8/10	80.0% Strong
13		8/10	80.0% Strong
14		8/10	80.0% Strong
15		6/10	60.0% Developing
16		7/10	70.0% Developing
17		6/10	60.0% Developing
18		8/10	80.0% Strong
19		6/10	60.0% Developing
20		6/10	60.0% Developing
21		5/10	50.0% Beginning
22		7/10	70.0% Developing
23		7/10	70.0% Developing
24		8/10	80.0% Strong
25		6/10	60.0% Developing

## 24. Work Effectvly in Diverse Teams (10/26/12) avg:67.6%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		8/10	80.0% Strong
3		7/10	70.0% Developing
4		7/10	70.0% Developing
5		7/10	70.0% Developing
6		8/10	80.0% Strong
7		8/10	80.0% Strong
8		6/10	60.0% Developing
9		8/10	80.0% Strong
10		5/10	50.0% Beginning
11		7/10	70.0% Developing
12		7/10	70.0% Developing
13		5/10	50.0% Beginning
14		7/10	70.0% Developing
15		6/10	60.0% Developing
16		7/10	70.0% Developing
17		7/10	70.0% Developing
18		6/10	60.0% Developing
19		7/10	70.0% Developing
20		7/10	70.0% Developing
21		7/10	70.0% Developing
22		6/10	60.0% Developing
23		7/10	70.0% Developing
24		6/10	60.0% Developing
25		7/10	70.0% Developing

## 25. Find Humor in Approp Situations (10/26/12) avg:65.6%

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		7/10	70.0% Developing
3		8/10	80.0% Strong
4		5/10	50.0% Beginning
5		6/10	60.0% Developing
6		7/10	70.0% Developing
7		7/10	70.0% Developing
8		7/10	70.0% Developing
9		5/10	50.0% Beginning
10		5/10	50.0% Beginning
11		8/10	80.0% Strong
12		8/10	80.0% Strong
13		5/10	50.0% Beginning
14		7/10	70.0% Developing
15		6/10	60.0% Developing
16		7/10	70.0% Developing
17		6/10	60.0% Developing
18		6/10	60.0% Developing
19		6/10	60.0% Developing
20		7/10	70.0% Developing
21		7/10	70.0% Developing
22		7/10	70.0% Developing
23		7/10	70.0% Developing
24		7/10	70.0% Developing
25		7/10	70.0% Developing

## 26. Manage Projects (10/26/12) avg:64.0%

#	Students	Scores	Grades
1		5/10	50.0% Beginning
2		6/10	60.0% Developing
3		8/10	80.0% Strong
4		8/10	80.0% Strong
5		5/10	50.0% Beginning
6		8/10	80.0% Strong
7		7/10	70.0% Developing
8		6/10	60.0% Developing
9		6/10	60.0% Developing
10		6/10	60.0% Developing
11		8/10	80.0% Strong
12		6/10	60.0% Developing
13		6/10	60.0% Developing
14		6/10	60.0% Developing
15		8/10	80.0% Strong
16		6/10	60.0% Developing
17		6/10	60.0% Developing
18		6/10	60.0% Developing
19		5/10	50.0% Beginning
20		7/10	70.0% Developing
21		6/10	60.0% Developing
22		5/10	50.0% Beginning
23		8/10	80.0% Strong
24		5/10	50.0% Beginning
25		7/10	70.0% Developing

## 27. Produce Results (10/26/12) avg:63.2%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		7/10	70.0% Developing
3		7/10	70.0% Developing
4		7/10	70.0% Developing
5		6/10	60.0% Developing
6		7/10	70.0% Developing
7		6/10	60.0% Developing
8		7/10	70.0% Developing
9		6/10	60.0% Developing
10		5/10	50.0% Beginning
11		7/10	70.0% Developing
12		6/10	60.0% Developing
13		5/10	50.0% Beginning
14		7/10	70.0% Developing
15		6/10	60.0% Developing
16		6/10	60.0% Developing
17		6/10	60.0% Developing

18	7/10	70.0% Developing
19	7/10	70.0% Developing
20	7/10	70.0% Developing
21	6/10	60.0% Developing
22	5/10	50.0% Beginning
23	5/10	50.0% Beginning
24	7/10	70.0% Developing
25	6/10	60.0% Developing

## 28. Guide and Lead Others (10/26/12) avg:59.2%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		6/10	60.0% Developing
3		6/10	60.0% Developing
4		6/10	60.0% Developing
5		8/10	80.0% Strong
6		7/10	70.0% Developing
7		6/10	60.0% Developing
8		4/10	40.0% Beginning
9		6/10	60.0% Developing
10		6/10	60.0% Developing
11		5/10	50.0% Beginning
12		7/10	70.0% Developing
13		5/10	50.0% Beginning
14		5/10	50.0% Beginning
15		7/10	70.0% Developing
16		4/10	40.0% Beginning
17		6/10	60.0% Developing
18		7/10	70.0% Developing
19		4/10	40.0% Beginning
20		5/10	50.0% Beginning
21		6/10	60.0% Developing
22		6/10	60.0% Developing
23		8/10	80.0% Strong
24		7/10	70.0% Developing
25		4/10	40.0% Beginning

## 29. Be Resp. to Yourself & Others (10/26/12) avg:63.2%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		6/10	60.0% Developing
3		6/10	60.0% Developing
4		6/10	60.0% Developing
5		7/10	70.0% Developing
6		6/10	60.0% Developing
7		5/10	50.0% Beginning
8		8/10	80.0% Strong
9		6/10	60.0% Developing
10		6/10	60.0% Developing
11		5/10	50.0% Beginning
12		7/10	70.0% Developing
13		5/10	50.0% Beginning
14		7/10	70.0% Developing
15		5/10	50.0% Beginning
16		6/10	60.0% Developing
17		7/10	70.0% Developing
18		6/10	60.0% Developing
19		7/10	70.0% Developing
20		7/10	70.0% Developing
21		7/10	70.0% Developing
22		8/10	80.0% Strong
23		5/10	50.0% Beginning
24		5/10	50.0% Beginning
25		8/10	80.0% Strong

## 30. Access & Evaluate Information (10/26/12) avg:66.8%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		6/10	60.0% Developing
3		7/10	70.0% Developing
4		7/10	70.0% Developing
5		6/10	60.0% Developing
6		8/10	80.0% Strong
7		7/10	70.0% Developing
8		5/10	50.0% Beginning

9	8/10	80.0% Strong
10	5/10	50.0% Beginning
11	6/10	60.0% Developing
12	8/10	80.0% Strong
13	5/10	50.0% Beginning
14	8/10	80.0% Strong
15	8/10	80.0% Strong
16	8/10	80.0% Strong
17	7/10	70.0% Developing
18	6/10	60.0% Developing
19	5/10	50.0% Beginning
20	8/10	80.0% Strong
21	8/10	80.0% Strong
22	6/10	60.0% Developing
23	6/10	60.0% Developing
24	5/10	50.0% Beginning
25	6/10	60.0% Developing

## 31. Use and Manage Information (10/26/12) avg:80.0%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		8/10	80.0% Strong
3		8/10	80.0% Strong
4		8/10	80.0% Strong
5		8/10	80.0% Strong
6		8/10	80.0% Strong
7		8/10	80.0% Strong
8		8/10	80.0% Strong
9		8/10	80.0% Strong
10		8/10	80.0% Strong
11		8/10	80.0% Strong
12		8/10	80.0% Strong
13		8/10	80.0% Strong
14		8/10	80.0% Strong
15		8/10	80.0% Strong
16		8/10	80.0% Strong
17		8/10	80.0% Strong
18		8/10	80.0% Strong
19		8/10	80.0% Strong
20		8/10	80.0% Strong
21		8/10	80.0% Strong
22		8/10	80.0% Strong
23		8/10	80.0% Strong
24		8/10	80.0% Strong
25		8/10	80.0% Strong

## 32. Analyze Media (10/26/12) avg:74.0%

#	Students	Scores	Grades
1		8/10	80.0% Strong
2		7/10	70.0% Developing
3		7/10	70.0% Developing
4		7/10	70.0% Developing
5		8/10	80.0% Strong
6		7/10	70.0% Developing
7		7/10	70.0% Developing
8		8/10	80.0% Strong
9		7/10	70.0% Developing
10		8/10	80.0% Strong
11		8/10	80.0% Strong
12		8/10	80.0% Strong
13		7/10	70.0% Developing
14		7/10	70.0% Developing
15		7/10	70.0% Developing
16		7/10	70.0% Developing
17		8/10	80.0% Strong
18		7/10	70.0% Developing
19		8/10	80.0% Strong
20		7/10	70.0% Developing
21		8/10	80.0% Strong
22		7/10	70.0% Developing
23		8/10	80.0% Strong
24		7/10	70.0% Developing
25		7/10	70.0% Developing

#### 33. Create Media Products (10/26/12) avg:63.6%

#	Students	Scores	Grades
1		7/10	70.0% Developing
2		6/10	60.0% Developing
3		7/10	70.0% Developing
4		6/10	60.0% Developing
5		6/10	60.0% Developing
6		6/10	60.0% Developing
7		7/10	70.0% Developing
8		6/10	60.0% Developing
9		7/10	70.0% Developing
10		6/10	60.0% Developing
11		6/10	60.0% Developing
12		6/10	60.0% Developing
13		6/10	60.0% Developing
14		7/10	70.0% Developing
15		6/10	60.0% Developing
16		6/10	60.0% Developing
17		6/10	60.0% Developing
18		6/10	60.0% Developing
19		6/10	60.0% Developing
20		8/10	80.0% Strong
21		7/10	70.0% Developing
22		6/10	60.0% Developing
23		6/10	60.0% Developing
24		6/10	60.0% Developing
25		7/10	70.0% Developing

## 34. Apply Tech Effectively (10/26/12)

2)	avg:60.8%	

#	Students	Scores	Grades
1		6/10	60.0% Developing
2		6/10	60.0% Developing
3		6/10	60.0% Developing
4		6/10	60.0% Developing
5		6/10	60.0% Developing
6		6/10	60.0% Developing
7		6/10	60.0% Developing
8		6/10	60.0% Developing
9		6/10	60.0% Developing
10		6/10	60.0% Developing
11		6/10	60.0% Developing
12		6/10	60.0% Developing
13		6/10	60.0% Developing
14		7/10	70.0% Developing
15		6/10	60.0% Developing
16		6/10	60.0% Developing
17		6/10	60.0% Developing
18		6/10	60.0% Developing
19		6/10	60.0% Developing
20		6/10	60.0% Developing
21		6/10	60.0% Developing
22		6/10	60.0% Developing
23		7/10	70.0% Developing
24		6/10	60.0% Developing
25		6/10	60.0% Developing

# 35. Reflect and Synthesize (10/26/12)

#	Students	Scores	Grades
1		80	Not for Grade
2		92	Not for Grade
3		82	Not for Grade
4		92	Not for Grade
5		95	Not for Grade
6		92	Not for Grade
7		87	Not for Grade
8		93	Not for Grade
9		88	Not for Grade
10		93	Not for Grade
11		94	Not for Grade
12		94	Not for Grade
13		93	Not for Grade
14		93	Not for Grade
15		89	Not for Grade
16		86	Not for Grade
17		91	Not for Grade

18	90	Not for Grade
19	95	Not for Grade
20	91	Not for Grade
21	86	
22	96	Not for Grade
23	90	Not for Grade
24	91	Not for Grade
25	90	Not for Grade

## 36. Reflecting on 1st Few Weeks (9/10/12)

#	Students	Scores	Grades
1		80	Not for Grade
2		70	Not for Grade
3		70	Not for Grade
4		90	Not for Grade
5		90	Not for Grade
6		80	Not for Grade
7		80	Not for Grade
8		85	Not for Grade
9		95	Not for Grade
10		90	Not for Grade
11		90	Not for Grade
12		75	Not for Grade
13		100	Not for Grade
14		inc	0.0% Not for Grade
15		80	Not for Grade
16		75	Not for Grade
17		90	Not for Grade
18		inc	0.0% Not for Grade
19		85	Not for Grade
20		90	Not for Grade
21		90	Not for Grade
22		100	Not for Grade
23		95	Not for Grade
24		80	Not for Grade
25		75	Not for Grade